80CK
Rim Cylinder
Mounting Kit (8000 SERIES) DORMA

1. Lay out parts included in kit.
2. Insert Rim cylinder thru BPO3 trim plate (positioned as shown.)
3. Slide cylinder cup over cylinder.
4. Attach cylinder cup using screws supplied with cylinder.
5. Measure and verify thickness of door.
6. Trim toil piece if required. (Tail piece should be 1/8" — 3/16" less than thickness of door.)
Measure from rear of 8P03 trim plate to tip of tail piece.
7. Install BPO3 trim assembly in door to chassis using (2) screws included with exit device.
8. Refer to device installation instructions for installing exit device.
TRIM PLATE
RIM CYLINDER
/

Position cylinder as shown. CYLINDER CUP "
Device accepts horizontal :
or vertical tailpieces.
Horizontal is shown. MOUNTING SCREWS

(SUPPLIED WITH CYLINDER)

CYLINDER Cup

#10 Washers

1 1/4" Philip Pan Heod Machine Screws

NOTE: For ANSI Grade 1 mounting;
Add (2) #10 washers and install
using (2) 1 1/4" P.HP.HM.S.

1135-55 IBOCK-5 5/06
+




Rim Cylinder
Mounting Kit (All other trims) DORMA

Lay out parts included in kit.

Insert Rim cylinder thru trim (positioned as shown.)

Slide cylinder cup over cylinder.

Attach cylinder cup using screws supplied with cylinder,

Measure and verify thickness of door.

Trim tail piece as required.

Install trim assembly in door to chassis using screws included with exit device.
Refer to device installation instructions for installing exit device.

PN AEWN =

O O O

0
G G H

Y TRIM "J' TRIM

"N & "P" TRIM "V TRIM
/ TRIM PLATE OR ESCUSHTEN
;

CYLINDER CUP

RIM CYLINDER

Paosition cylinder os shown.
Device accepts horizontal
or verticol tailpieces.
Horizontal is shown.

MOUNTING SCREWS
(SUPPLIED WITH CYLINDER)

#10 Washers

1 t/4" Phillip Pan Head Machine Screws

=

S

@ NOTE: For ANSI Grade 1 mounting;
Add (2) #10 washers and install
using (2) 1 1/4” P.HP.HM.S.




